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257426

(Uw tiplymt huwquip bpbp hupymp
punuunlynp el b
Uyl punuitipy phy

. i £l piutput
ubpny qpumud b uyubu’ 2347;

Lwpynipuinp
Lwquipuninp

guul; uw bplynt hwpymp hpundynp
hwquip snpu hwpyny puwtin]bg
bl - Uyt eguithy o b

| winp — 8nyg £ mwihu, pb pwuh Jhwdnp Yu
i 1IhuJJSEl_np'ulzng| qwﬁ:qﬁm:h dains
Swiubunp — Snyg £ nwihu, pb pwuh nwubywly fu
nwulywlubph Ywpgnud:
Lwpmnipunfnp — 8nyg £ nwihu, pb pwth hwpynipywly Yuw
hwpynipywlytbph Ywpgned:
Lwqupwynp — Snyg t nwihu, pb pwuh hwqupwl Yw
hwqupyulubph Juwpgnud:

Swuhwqupunjnp — Snyg b wwihu, ph pwih nwuhwqupul Yuw
mwuhwqwmwlﬂlhpﬁ fuwpgnud:

Lwpniphwqupuwynp — 8nyg k wwihu, pb pwup hwmntghwqwmmh L
hwpyniphwquipyuljubiph fupgnud:
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Ywpnui b pumpwgplip pYtphg jnpwpwiignpp hwpguwphl
hwiwuyuwinwujuwl, 4625, 45752, 725228:
. ~P-mhf1: uhy muh:
* Rwtifi hpwphg wwpplip pYwyuing t gpiws:
Rmhh hwqupjuy £ wupmuwlnud:
~P-u1hh hwqupjuy Yu hwqupjulutiph l{U.lpqnuI
~Rm'u[1 Uphuwynp b upuapnitiulymud:
-F!‘mhh upwynp fu dhwynpubiph fupgnud:
"pl £ wyn pyh hwppnipuynpp:
n Ywpnui phyp’ 48764, L wwwnwupuwufip hwpgbphu:
« Ny & nyg inwjhu 6 pyutiywup wipdws pyh gpipjub dby:
« P'us gnyg Y 6 putipuip wyn pyh gpmpjull wnwght pywutiwp
ougtinig htiwnn unwgywd pyh gpmpjut dby:
* By gnyg Yunw 6 pywtiwtip wyn puh qpnipjwl Jlipohu pywitiwp
ougtiynig htinn unnugywid pyh gpmpjul dhy:

Upunwgphp’ wumnuuhbpp thnjuwphubng hwdwyuwnwuofuwb

EYwtiwibpny:
w) 28*4 _53+*51 p) 8*45 . 502+4
5 5= 2642 $2nY *5%72
*x17 *x3*8 *68%* 350+
N <woyfip wpunwhuwynnpywl wpdbpp:
w) 4324 + 2676 60 - 7000 p) 43712 + 1288 400 - 50
420000 — 748 36000 : 900 324216 - 978 45000 : 50
BB vwqulip wpnwhwpnmnpgnii b qunfip’
w) 7045-hg 412-ny utid phyp, p) 50-hg 70 wuqu Uts phyp,
7045 L 412 pybph gnudwipp, 50 L 70 pybph wpunwnpyugp:

K3 v <wyyp &l.[hpmuh hudwp Y&wphg 2440 npw, hul ubkijuh hwdwp® 2 whqud
wwljuu: <wylyp nppuit t ydwpty wyn qunudubtiph hwdwp:
p) Upwt njhyh hwdwp Y&wphg 780 npuud, huly Jupniugh hwdwp' 3 waquid
wikph: Upwl nppuit b ydwphy wyn qunudubiph hudwp:

w) «Unumnuwyht hiphwp» ghppl wpdt 1250 npud,
npp 4750 npudny kdwl E «Utip dn[npull.lh dwyp-
guulwpbipp» ghpp-fudwlyjwphg: Nppuil unp
t y&wptip wyn ipynt gpplipp qulgm hundwp:

p) «<hu wuwphh jnp hpwwjhpubipp» ghppl wpdh
3000 npwd, npp 2250 npudny pwtly t «Uwjpliup
tqyh qpmgwputi» gpphg: Nppuit whwnp ydwply
wyn tipyn qpplipp qubpm hwdwp:




) <twlbinyg oppuwlhy’ jnipwpuiignip hwjwuwpmpyu hwdwp wpui
snpu duwphn punnpnpyniu;

452 -212=240, 4502 - 2002 = 2500, 6531 — 331 = 6200

BEN U.uui jnipuipuiiginip upwph hudwwywinwupuw phip: Ugn pybphg
Jnipwpwtigniph hwdwp wuui bpw hwplwb Giep mwebpwlubpp:
N'p Ynp wwulywljs £ wyn pypt undbih dnm:

pusTBE ' ‘ . '
LSS AT £ et e
570 580 590 600 610 620 630 640 650

Stinhubi 3-pn nuuwpuih dweptdwinhlugh nuuwgppnd Yphwul bp -
wbij: lotnph dbg hntuthu wdudw thnpuwpbt gpuws tp hnghu: 0°pl E wyn bplm
whubiph wwpptipnupymup:

w) Upwl 9 nwupbiuit b Muwghlp 6 whquad dbs t Upwghg: Lwtf wwpny
wuwhyp U Upwyhg:
p) Swyphyp 36 wwpbw k: Lw 27 wwupny dbs E <uglhg: Lubf wtquad
huyphyp Ut Swyyhg:

Sotip bl hynwing' wewlg dunnpnp

Pnehg Yupknt jnipupwiynip ghd
qotny dhuyl bl wlquud:

Uwinqlip hhannnipyniun:
+ 26 -14 + 28 - 38 +45 -47

- E e E

EY dnpduwlwt wpnuinwlip:

Hulipwlunp prph ypw qopp ABC
bmulilypniiup b ypwip a nighnp wyliog b,
flhéqufu wunplybipafwed F blpupnad:
Sppfip wuopllipp bqpugomy I oupl-
1 a ninhnny wupqghp’ hwdwsuih b
wpynp wjl a mghnh tpuwapdwlp:




bu wpnkle ghuplnd, pb pyp gunuepui by s Fgnyg |
W:Wﬂymp lpupgnul wlwmbuhzw&@

Qﬂhbwft 254647 pih qvmmmb hp__;_' npn L gnppnpn llmmhpmﬂ

St @th@hmah pywlipwlp’ 4-p:

Swuljuyk qmu (ipypnpn. Gupg) Wﬁ’*"ﬁ-&“‘iﬁ KM“ “F “13@
"'_“mmxrfbmmmw twubiyuly; %ﬂl

: ' "‘Imm) wm%nmtmm mvmm
';wlh hwqmmwhhbph W@“ﬁ l{m hmmmmh

Uhunynpp, wwubymyp, hupympyuyp,
hwqupyuljp, mwuhwqupyulp b hwpymphuqupyuyp
Jupquyht dhwynpubp Gu:

1-p dhwynplbiph (wnwght) Yupgh Yupguyht dhwynpl t:

10-p wwubjwyutiph (Epypnpn) Yupgh Yupquyht dhunjnpu k:

100-p hwpynipjuyutiph (Bppnpn) Yuipgh Yupguyht dhwynp t:

1000-p hwqupjwlutiph (snppnpn) Yunpgh Yupguyht dhuynpl k:

10000-p wwuhwqupjuyutiph (hhuglptipn) Yupgh Yupgquyht dhwynpl
100000-p hwpmphwqupyulubinh (agkpnpn) Yupgh Yupguyht dhwynpl t:

Ophitiuly’ 324098 pyh qpnipjut dbg'

8-p gnyg £ wwihu, np dhwynputiph upgmd Yu 8 dhwynp,

9-p gnyg £ wwihu, np mwutjwlubph Yupgmu fu 9 mmatyuy,

0-u gnyg k wiwjhu, np hwpynippulubiph Yupgnud jupguyht dhwydnp s,

4-p gnyg k vy, np hwquipjulutiph Yupgnud ju 4 hmqupyul,

2-p gnyg k wwjhy, np muuhwqupyujubiph jupgnud Yu 2 wmmuhwqupyul,

3-p gnyg k wwjhu, np hwpymphwquppulyutiph Yupgnd Yu 3 hwpynip-
hwqupjul:

B Ywpnui php' 324707, b wywinwufuwbfip hwpgbph:
* Fug I gnyg wwhu 7 pywtipuip wipjws puh gpnipjut dhg: .
* Pwfi Yupquyht dhwnp Yu wyn pyh hhugtpnpn Yupgnul:
N°pu & hhuglpnpn Yuipgh Yuipquyht dhwynpp:
* Rwifi Jupquyht dhwynp Jua wyn pyh bplpnpn Yupgmad:
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Splip uyl phyp, npp wwpniiulnut £ dhuyg®
w) 1=t Yupgnu!” 7 Yuipquh dhwnp, 5-pn Yupgmd' 6 upquiht dhugnp:
F) 2-pn Yupgnut' 8 Yuipquyht dhwynp, 4-pn Guipgnud' 9 Yupguyht dhwynp:
Gnlip uyu Jlguilgy phip, nph*
w) dpwynpp 2 £, wnwuhwqupwynpp® 0, hul Ujniu pninp pywitiywbttpp’ 6,
P) wwutiwnpp 0 &, hwquipudnpp® 3, huy djnu pninp plwtywiitpp’ 2,
) hwpnipuynpp 2 t, hwqupunpp® 4, hulj djmu pninp pywlywuttipp’ 7:

EER U.unnuishobpp thnfuwphufip huduguinwufuwt pYwiwiubpny:

w) S5*24x p) . 8*03# Q) 2%*2
3 8 300
*50** 3 608 * 20 % * %
BEN <wodlip: w) 218-7  4205-4 F) 8883 3670 - 5
532-50  562- 700 555-40  305- 400
L) Ywqilip wpnwhwynngeyniu b qupp’
w) 6248-hg 250-ny thnpp phup, P)560-hg 70 wiigqwd thnpp phup,

6248 1 250 pytiph wwpplipmpymup, 560 L 70 pytiph puwinprp:

Bl w) «"wpuntigy ghppp (htn.' U. Yuununhljwt)
wpdt 1200 npwd: Y 950 npudny pwtily k
«Ywwniywn htiphwp» qpphg (htin.' &. Ntan-
pnujwb): <wipyhp, ph nppwit whwnp t ydwphy
wyn gqpplipp qubipm hwdwp:

p) «Cwqup m Up tipb» ghppp (htin." 6. Ntan-
pnujut) wpdb 900 npund: Wb 3 wqud kdwt
E «Uwtuljwl qutdwput» qpphg: <wiphip,
Pl nppwl wianp E ydwpby wyn qppbipp
qubipnt hwdwp:

23 U.uui jnipwpwiigynip upupht hwdwyywinwuiwt phyp: Uyn pytiphg
Jnipwpwitgyniph hwdwp wuw bpw hwpbuw iop hwpympyulubpp:

N°p Ynp hwpnipyuilu £y pbls unjbgh dn:

510-‘1\:
J‘}“L/I’. * | + ‘ | ¢I ¢I ¢I ¢I
D A e e R L B SIS SN U RUTOd S
500 600 700 800 900 1000 1100 1200 1300

IEER U.punwigplip b, pun ophuwsuwihmpyuili, mpfuis pikphg wnwy U hkwnn
wybpugpn by dblwljwl phy:

w) ..., 7630, 7623, 7616, ... p) ..., 7624, 7632, 7640, ...




mdlnpﬁﬁp ynwhb| yuwwnwuluwbbpp:
« @ytphg dkyp Uymuhg ubs £ 275-ny: Nppuwit £ wyn pytiph twppbpnugimup:
« bpym pytiph wwppbpmemup 420 t: Nppwtny k dkyp dnuhg dtis:
« bpym pytiphg utiyp dmuhg thnpp £ 518-ny: Nppwuny t utiyp dnuhg ubis:
« bpym pytiph pwnpnp 5 b Lwlli wuguad tutyp dnuhg ubd:

FENp nunnnngyni £ douwphun: Ukljuwpwlfip wunwufuwng:

w) Gwulniut wyb phbjuid b npp punijugus bptip hwunjuduliphg:

n) Gnwblynul wyt thwl philjugl £, npp punyugwsd t tiptip hwwnyjwsdttiphg:
q) Rumwlnuht wyt monublynub L, nph pnpnp Ynnutipp hwjwuwp bu:

n) Rwnwljnuht wjt punwlynub £, nph pnpnp Ynnubtipp hwjwuwp bu:

EAvwnqgfip npwnpigyniun: A A A
Hunpip, Swolfip b wunnlbiphip : : - ¥,
wwhuuilpny Ytankph npppbpp:

Fiddwip pwufiup whkwp k gnyg nwt bplpnpn b Eppnpn dwdwgnygubpp

| 28 EUHOO ) wnwewnpwupubpp’ hinbbing Uygh ophuwypu:
Gshp nplik mnpn & wyt winwhip a: Llip @ mnhnhu
wunluunn hhtg Yan b wijuulip A, B, C, D, E wnwnbipny;
Gplip wyn Swypwltntipny 10 hunnjustbiph wbyjwunulubp:

« Upyué lapkphg ripl b qyplafnid diniw bplne laplph dpol:
o Wn hupyjwollphg riple b juquinud djniup duw
8« AB AC, ..

* B yinpp qplujnd EA U D Ylaplph gl

o AB huapyjwop AC hunprfusdh dw b ljugudnad:
Ninhnp Yupnn bup Gupnw) bwb bput wjuwnljutinng
guiijuigws plynt Ytankph Upwbwlmuubpny:

Ophuutly’ a nanhnp Yuwpnn Bup fupnu) el wjuy b’

AB nunfm, CD ninpn, AE nighiy b wjpi:

bhwpll, pai &pop b’ AB-, CD-lt, AE-U lault
hunlwyuwapuufuut hupudtbph gpunnodlpl b




104} qunippusl jrapupuilisnip pus
gnyg Eypuihy, pl i jupgnud .uwhh
lupquyhl whwﬂnp iz

‘!tunbks, np jmpupwlisiy  Ophlily’ 2457 = 2000 + 400 + 50 +7
j_;ianp I ;‘gﬂmﬁfﬁ : qunxz457 thnq +4h +5m + 74

. qwah ! wy
mmmtﬂ ﬂbmlnmah mmm:

| ‘ﬁ'ﬁ"ﬂ'ﬁ w?ﬁﬁi-’ammmmhmh Yuipgoul fu 2090_ Upunjnp,
~ hwpympyuljubiph Yupgnud® 400 dhwynp,

wwulywlubph yupgmy' 50 dhunjnp,

ﬁimlnphhph hurnquf 7 ll’mn Inp:

msmlwt‘f phup UbpYuywgprit Yupguyhu qmﬂwnbmbbnh qnuiwph
wnbupny b wyyuwwnwupuwuhp hwpgbppu:
« Smpupwbsjmp Jupgnud pwufi dhwynp Yu:
« Smpupwbsjmp Jupgnd pwth jupguyht dhwynp fu:

w) 67, 308, 4552, 50305 P) 24, 267, 3254, 10201
EIJ 4wpquyht gnudwipbjhutiph qnudwipp qplip pyh wkupng:
w) 7 hwg. +3 h. +3 . + 5 d. p) 60000 + 2000 + 50 + 5
8- 10000 + 3 - 1000 + 2 - 10 4+100000 + 3+ 100 + 2 -1
200000 + 400 + 5 6 hwq. + 3 h. + 8 d.

EXE " wpglip, ek np gnuiwipt E juipquih qnudwpbihubiph gnuduwip, b uy
ubpljuwywgprit pyh inbupny:

w) 7 hwq. + 3 w. + 5 d. p) 60000 + 2000 + 520 + 5
710000 +3- 1000 +4 - 10+ 6 1 4 - 100000 + 31000 + 2+ 1
40000 + 2050 + 30 + 5 7 hwq. + 3 h. + 42 L.

IEF nlip wyu php, npp uqiws b dhuygl®

* 7 wwuhwqupjwyhg, 3 hwqupjuihg b 8 dhwynphg,
* 2 hwqupjulhg, 2 hupnipjuihg b 2 dhwnphg,
* 5 hwpymphwqupyuyhg, 5 hwqupyulyhg b 5 nwubjulhg:




EEY ywqutip wipnwhuymnigynis b wpwpgfip.
W) Nppwiiny Yubswtw 34581 phyp, bpli tpw gpnipjwl hhughpnpn Yupgnd
qnyjwd pywbzup thnjuwphtbip 8-ny;
P) Nppwitiny Yihnpputim 34581 PhyD, tiph tpw qpnipjwt tppnpn, Jupgnud
anywd pywtywlp thnhuwphubiup 2-ny:
%) Nppwitriy] Yihnppuitiu 434581 phup, biph upw gpnpjwl hwqupuynpp
tnfuwphutiup 0-ny:
Ywpnuw Buhh dbhuwpwunpyniiubkpp wuwunwufuwuhip hwpgbphu:

D E——

 bpl 478-hu dwjuhg Ygwgphip 2 pqu;t;;a_nnn_,i

* Nppwlriy Yutiswtw pYuhy phyp, bpb tpw qpmpjulp dwhihg Ygwgnhp
4 pwlwp: Yuw ophluulukp:

* Nppwitiny Yubdwtiw tinwtth phyp, kel tpw gpnipjutp dwjuhg Ygugnphp
3 pYwbpwiip: Uuw opfluulllp:

U.pmtuq.pﬁp‘ wuwnnuuhbpp thnjuwphubny huwilwwywnmwupiwy

PYwuwulbkpny: :
783 845|5 8454|6
w) -z ]T* P) £ ‘7,.,.. q)_1 h_ng W 7420 71'*6*
18 34 24 04+
18 3 24 2
0 _*5 054 T
45 o
* *
El <woibip: w) 2184:7  3215.6 P) 8592:6 33207
8540:70  242- 60 5580:60 308 - 40

Qpnumnghl{hhpn wnwgh opmu wuguili 20 dwluwwwph, npp 5 waquud
hy b iphpnpn opfw wiigus dwlwwwphhg: Nppuitt Swbwwuph b wlghy
qpnuuzpohlubipp wyn iplnt opnu:

mllnmghh Snpuyny 1 dwdnud gpuijwquati fupnn k
194t 1450 | 9mup, huy kpYpnpnny’ 2 wuquad phe:
Nppwiti 9mp Yupnn & spuwijuquit jgyty 1 dwidmu
tpym snpulutipmy uhwdunlwtiul;:
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EE] Swiyp Swghlht wnwguiplitg dnwwwhby nplik tnwth) phy b wyn pyhu
dwiluhg Ygwgphy 3 pYwtipuup, wyimhbnb uinwgyws pyhg hwbb) dinwuw-

hws phyp: Upnyniupp <wyht wwpg tp: N°pl bp wyl:
Yuwqupp bdwiwmhyy fuuinhpubp Bpluh b punwuh
puUtph hwdwp b wewewnplip puljpngn:

1) UV.uui jnipupwligynip upuphts hwdwwyuinwufuwt hyp: Uyn pybphg
jnypupwtigniph hwdwp wow Upw hwpbwt finp hwquippujubpp:
N'p Yinp hwquippuij £ uyn i undbih dnu:

Bin SR i o Prs oo 1 g 4

L BN L Oy | L O ip Ol EA VT P o | TG U A ool IRl |
3 ! | i it L 1 )
10000 11000 12000 13000

| 1
ey T T 1

a Rl
5000 6000 7000 8000 9000

X LhEpyuywgpnt’ hwwuwpnipyuw nbupny:
w) 120 b 90 pytiph wwpppmpymup 30 k: p) 25 b 6 pybph wpwwnpjugp 150

340 b 40 pytph gnudwpp 380 k: 350 i 50 pybtph pwtnpnp 7 L:
500-p 50-ny thnpp k 550-hg: 5600-p 70 wugquu Ubis k 80-hg:
500-p 50-ny Uk L 450-hg: 60-n 70 wuquwu thnpp k£ 4200-hg:
73 Spws pdtipp gplip bpbkp wpnwnphyubiph wprnwnpyuih nkupny:
w) 12, 24, 20 Ophtuuly' 32=2-4 -4
p) 30, 36, 48 - Yui32=8-4.1
Swppbp dubpny Jupnui wpmwhwpunnigymup b hwobp wpdbpp
pwnynp:
w) 316 - 216 p) 300 - 40 q) 499 + 500 + 501
564 + 22 560 : 70 5-15+20
EZRUuwngfip npunpnipyniun: : 7 5
Hunip, Sudlpip b g8fip wnynuwlp 5 6
wjwhwywiubiny pdbph nhppbpp: 6 | 7

w) Updkup 5 wwpblu k, puy hwyphYyp upwtthg dbs £ 23 wwpny: 5 viwuph
htunn hwyphyp Updtithg pwtfi wwupny ks Yihuh:

p) Upwrnwyp 5 wupbuits £, puly hugphyp upwithg dtis £ 7 wgud: 5 wnuph
htinn hwyphYyp Upwwhg pwth whqud dbs Yihuh:
m U.punwgppp b, pun ophtisgwthnipyuit, inpywé pytiphg wnwyg b htnn
qppp Lu dEjwlwy phy:
w) ..., 3458, 3568, 3678, ... p) ..., 3647, 3446, 3245, ...

1



Fnudwpnulit nhwunwdp dhliing  Puqdwigwnlnudy ne pwdwunuip
Yuwpgh gnpénnmipynitubp Bu: unyuubiu Jhliunyu Yupgh qnpdn-
nmpynitubp bBu:

Puqiuwuuwinynuiu m pwdwunuip unjbjh pwpap Yupgh
qnpdnnmpymuubp bu hwdwpynud, pwl gnudwpnuiyu hwunuip:

Ut dplitiniyl jupgh
lpupupdiate jpupql

+218+5412=10021  462:5:3=77¢

@ <wyubip: w) 2184 — 725 + 96542 — 7205 ) 8592 - 657 + 124567 - 7025

1000: 4- 80: 200 5100: 6 40: 200 -
215-4:20- 30 33600 : 6070 - 22
KTV punwhwyinfip.

12

w) dpihdbiinptipnyd  p) uwbwnhdbnpbpng

5 uil 50
74 3504
5ud 6 dd 250 7 ud
5055 ud 6 4 40 5nd 6ull
a) nighutitnpbpny  n) dbnpbipng
50 5y
340 234 2351
540 24 3181 16 1
44864 7nu 400 Yd 4 4




m<wzq|1n wpunwhwynnpyuw
wpdbpp, bpb a = 3200:

w) a + 308 - 1654 < Ophl‘:wl[ hw)bup 2457 + a - 5302

5:a: 40 - wpunwhwjnnipjwl mﬁéham
~ hiphl a=3200:
P a+ 3208 -a ' f22t57+3200 5302 =355
a:40-64

,2457 5657
3200 75302

~ 5657 355

mUmmth, ek np pulétuhnuih k dhawn Yunwpywd, b uyl deljuwpw-
ubipny wpwnwaplip mhmnhn dbig:

w) 708|3 R) _84054 4054
8 }ﬁs % Iﬁs %4 P—4 6 '*009
18 9 24 24
0 18 054 ~054
% fz_{ i j_%

B w) Vbt dhl yupupnud wjupnbg «®npphly hpuwtip» qpph nhphpgnuln
L yupwpyw wnwght opp Jupnug 10 by, huly Uimiu optphtt’ 9-wljuit by:

Ruitifi tohg k Juquijwd «®npphy hzhuwtp» ghppp:

p) Untiul gwpupyu wnwghti ipkip opmud jupnwg opwljutt 12 k9, Yhpuyh
opp’ 14 ko, hul Utwgwd opbiphtt’ 10-wljuii kg, utily ywpwpmu wyjupintg
Elﬁl&hﬂghl «<hphwplitiph pwnpwith» ghppp: Rwifi tohg tquﬂllwb wyr}
anpep: . A

@nerpy -
hotollbl

3 w) Upquyhti wngwh hwdwp Untwlb oquugnpétig futidnp, nwutid b nhind:
hotidnpp 320 g-ny wnflih tp ntindhg: Swidp 120 g-ny phs kp ntindhg: <wipyi,
el nppwit Uhpg oqunugnpstig Untwti® ghwnbkiigny, np ntindp 600 q L:
p) Upwl nith 780 npw, huy <uyyp’ Upuyghg 140 npuadny wwljwu: Ywpb
muh wjtpwl, nppwt Suylin m Upwt dhwuht: Ywpnn kb apwtp dhwuht
quly «Cwjwunwth hpwywhputp» ghppep, npu wipdt 2400 npud:
EE) "wunwuhiwfip hwpgbpht b wowi bdwbunhy oppuwlubp:
* Nppwiny Yubudwtw phyp, iph tpw gpipjwt hwquppuijutph Yupgnd
gpywéd 0 pywtiyutip thnpuwphyh 7-ny:
* Nppwtny Yhnppuitiw phyp, bpk Upw gpnuppub Eplpnpn Yupgnud gpyws
8 pywlipwp thnpuwphtnfh 2-ny:
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m U.mmquhp L, puwn ophuwywhnipywl, npfud pl{hphg wnwe b htiinn
qphip by dbluljwy phy:

w) ..., 3424, 3529, 3634, . p) ..., 8714, 8609, 8504, .

m Uuui jnipuipuwiigynip uppht hwlll.utquluuuutuwh ehdp: Uyn pyYbphg
Jnpupwiiginiph hwdwp wuwi Bpw hwplwb Gop mwobpuwlubpp b

Ynp hwpynippuiljubpp: 0°p Yinp mwutywli kwyng bt wybh dnm:

Sk
e L ‘ Voo :

| I | | I ..... | | T L Ly I J_“.I e |
o o U Rl | 1 o & | ! e

1
3200 3210 3220 3230 3240 3250 3260 3270 3280
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« Nppuit & Eppnpn. b bipypnpn, ptiph pwtinpnp:
« Rwufi wugu & bppnpn phyp Uts wnweht pyhg:
Yydd pn unwpud wjuunwtipp hwdbidunnfip puljtipngn junnwpwusdh

htin: Sundtidunntip hwpgliph yuwnwupawtiitipp: Wyn hwpglipht yyunwu-
Juwmtitipnt hwndwip wmihpwdtion E wpynp pdwtiag dinuuyuhwd phyp:

EEE] Lpwgpric wnynuwlyp: Ywpng bu Gunnwply putiusgnp:

Luwtunpn Jwpnpn Ltufunpry Jwgnpn Luwifunnn Jwgnpn
Yiop Bhyp bgnp bnp Bhyp btnn Lgnn Phdp Linp
wnwuljwlp unwuljwlp | [hwpjnipjulp hwpjnipjuilyp) | huquinjulp hwqupjwlp

4328 4328 4328|
4001 4001 4001
54328 54328 . 54328
654328 654328 654328

« N°p Ynp wwuywlu b npdws pyht wyligh dnn:
« N°p Ynp hwpympyuyu £ wnpjus pypt wybgh dnw:
« N°p Yinp hwqupjul b wpywsé pyhu wybih dnn:
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EE] Ywpnui Buuugh, Unuugh b <uylih qpuws eybph fudpbpp, npnug
wijwinu Bup Bwb puqinpynitubp, b wuwmnwufuwupp hwpgbphp:

Ubtw — {7, 35, 88, 452, 4875, 56478, 654789 }
Untw — { 3, 44, 88, 452, 5687, 56478, 789654 }
uyy — {7, 35, 88, 452, 4875, 32654, 546321}

* N pybipt b, np Yl Uhwdwdwlwly biptip puqunpymutbpnud:
¢ N'p pylipt kb, np Ywit U Wotgh, Y Untugh qpws puqunppniitbpmud:
* Np pybtipt kb, np Yut dhugt Qujlh gpuds puqumpmunu:

m U.punwgplip b jpugpnt pug panud pYbEpu m pYwiwiiubpp:

w) @-10000 +@-1000 +1:1 = 23%%1  p) 2hwq. +o . = #*5
800000 + 0 +1 = #%%%31 4hwq. +mh. + 810 = #2+%

EFF] Ywipnui, dluwpwulip L wuwnwufuwufip hwpgbppu:
bph 543 puh gpnupjup bph nplt puh wehg Yguigptip

wohg higuigntip 0 § D, 0 pYulizwlip, junmtmbp tpwbhg
wwu Guunbiubp 5430 phyp: 10 whquud Ut phy:

* bpli 218 pyh qpmputip wohg Ygwgphip 0 pYwliywtp, wuyw fiug gnyg
Quw uinwgywd pyh jnpupwtsjmp pyutyul:

* Rwlif wugu Yubidww Phup, et bpw gpnipjutp wehg Ygwagpkip tplm
huin 0 pywtiywb: Uuw ophuwlubp:

m dunip puwiufiup whwnp k£ gnyg ww bplypnpn L tppnpn dundwgnygubipp:

EEZ] Uwinqglip hhonnnieynitin:

EEE <w2dfip wipwd wunnlbph B -C
wuwpwghdt m dwljkpbup: :
Vwlybipbiup hwpflqn hushup 3 |D 2508 o
wuaplbipp ljupnn ku yppnhly = = 94l
Eplyr nipnubdygmtiibph: A FrEa s M
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EE3 phip wju huquishy php, npp'
« Uhwynpp 3 k, wwuhwqupuynpp” 1, hul dnw pnpnp pywbiywbtpp’ 4,
* nwutwynpp 2 k, hwqupunpp® 0, huly dnw pnnp pywtywttbpp’ 3,
« hwpjnipuynpp 4 £, hwqupuignpp' 1, huly dnw pninp pywtywiibpp’ 9:

Muwunwufuwlfip hwpgbpht: Culjbpngn wnwewipllip uynuhuh hupgkp:
* Nppwitiny l{dhﬁmﬂw 642418 phyp, tiph upw gpmipjut hhughpnpn Yupgmd
apyué pywtipwp thnfuwphubiip 9-ny:

* Nppwtny Yhnppwiiw 654823 phyp, tiph upw qpmpjut hwquppulutiph
Yupgmu gpyws pywtipup thnfuwphubup 1-ny:

* Nppwtiny Ythnppwtw phyp, bpk upw gpripywt hwpymppulubph Jupgnud
qpwd pywtizwup thnppugltiip 4-ny:

[m Lpwgprit winynuwwlp: Unpymuwlubpp Yupnn bu jpugub) putiwgnp:

uunp | | 3wenpn | | Luwfunpn Juignpn Luwfunpn | 3uwgnp
—=F—=fahln=— =4 bnp. @ 4np Yinp 6] binp
e mmzmtm hwinjnipjwln e hwpjnepjwlyp| | hwquipup i hwquipjwyp
5228 |52 100 | s228| 200 |[U4OG) | 5228 | XD

74348 | O || 200 74348 |y | [ 25000 14348 5OCDH
50505| 0 ||Y OO | 50505 /0OQ |90 | 50505 [ 7O
650308 | 70 || 2C)) | 650308 |/ L) ||@Om0 ] 650308 [ OCG
 N°p Ynp nwubywlu £ inpdws pypt wytgh tnun:
« N°p Ymp hwpynpjulj ©wpyws pyht wybh dnin:
« 0°p Ynp hwqupyul k npdws pyht utigh dnn:

EFE] Nwunwutuwfip putiwynp:

« Rwlifl Yupquyht dhwynp Yu « Npnup b 9000-h twjunpn b
324098 pyh 4-pn Yupgnud: hwonpn pytipp:
* N'pu | wditwthnpp huquh) phyp:+ Uuu pnpnp huquithy pybph pwtwlp:
¢ N°p b wbundté punwthy phup: « Npu t 583987 puh wwuhwquipuajnpp:

20507, 40032 putipp ubplupwgpnt fupquyhu gqnulwpbhubph
qnuiwph wnbupny b yunwuhiuupip hwpgbppu:

* Snipwpwtynip pyh jnipupwbgnp Yupgnd pwtl dhwynp Qua
* Snipwpwatiginip pyh jmpwpwbgymp Yupgmud putfi upgquiht dhaynp Yu:
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EEX] <wayfip wpmwhwynnysyw wpdbpp:
w)125. (126 : 3) p) 90231 - 321- 23
5250 — (3425: 5 + 1796) 82848 — (3425 + 415: 5)
125.(126:3) — (3425 :5+ 1796) (90231 — 321 - 23) — (3425 + 415 : 5)
[EE <wiyhp wpmwhwpnmpywu wpdbpp, ek a = 777: I
w)a : (72 -15-1077) + 741 p) 702 + (a — 3605:7) - 62
a-(a-689): 4 a-a:7:3
EEE] Ywqulip wpunwhwynnieyniu b qufip’
w) 55499 L 35499 pytiph gnudwpp,  p) 8542-hg 854-ny thnpp phup,
6400 b 64 pyliph wwppbipmpynup, 7584-hg 758-ny utid phip,

25 b 64 pybph wpnwnpjuyp, 3288-hg 6 wuquu thnpp phup,
32550 i 70 pytiph pwtnpnp. 78-hg 82 wuquu Utd phyp:
“Hip thwljwgdtpu iufluqhu, np YEpwljuiquydh hwjuwuwpmpyniup:
w) 840 + 200 — 280 — 80 = 840 ) 700 — 700 - 600 - 5 = 200
550 — 370 — 400 : 20 = 200 600 — 300 + 800: 4 = 100
<wiyphp htown Enwwlny:
w) 70 + 52 + 130 p) 4 +427 + 96
120 + 177 + 600 + 80 380 + 355 + 2000 + 120 + 45
2-70-'9:5 4-8-50-5

EEIJ w) <upybip wyt bipynt hwnprwlwts pytiph gnudwpp, npnghg thnpph gpnt-
plwl Ytipghtt pywbipuiip 2 k, b bpwtnud rmwuabyuljubiph pwtwyp 541 E:

p) Swpyhp wgt bpym hwenpnwlwt pybaph gnudwipp, npnughg dkép gutnud
I 3214 b 3224 pyliph dhol b Yyapowtinud | 8 pywlipwny:

w) bnwtlywt dh Ynnup 44 W £, hul dimu bpyne Ynndtiph gnudwpp 104 Ud E:
Cwpyhp wyn tnwblywt wwpwghdp:
p) Lunwbljul tpym Ynndtiph gnudwpp 54 dd k, npp 15 dd-ny thnpp £ djnwu
pym Ynndbiph gmidwphg: <wydhp wyn punwtljjut wwupwghdn:

hhmul{h opp huwtimpp sh wphuwnbi: Gphnipwpph opp yuwdwnby £ 15 winuh dn
huly wpwpyu duwgws optipht’ 18-wljwt winuh: <wyyhp, ph nppwit gnudwp]
am b Judwnty pwtmpep wyn wpwpyw pupugpnid’ ghinbkiuugny, np Ukl
Adnmlt wpdb 50 npuad, b dtly wnuthh Uk Yu 12 dne:

EEE] Upunwunpuidwunid 800 | dwumph hymphg npnp pwtiwl igpht 3 | tiwpnnni-
prudp iinuhbph dbg, b wyn winuhbipp 5-wlwt wbnuyynplny 40 wpyntiph
Uby’ niqupltightt fuwtinie: Rwitifi (hup hjnie duwg wpuunpudwunid:
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lmu.pmmqnﬁp b jpugpnt pug pnud pyYbkpu m pYuwiywuubpp:
w) 6 hwq. +own. +0 . = *%23 p) ©=+10000 + 7-100 + -10 = 2+ 38+
EZA] <w2dfip pwiuwndnp b fuqilip biwl ) wpmwhwynngymubp:

+ 215432 -1 -0-(42240:60 — 704) — 215432 : 1

¢ 7T+7+7+7+7+25

e 124+12+12+12+12+12+12+12+12+12 + 80
o 1272122907127 1271271212

[ZA Lpwgpnit nunwiply Juiiuuljubipp:

EZE] Vwnqghip hhonnnyaniun;

144 Ywquhip 4 gnpdnnnipyniu b thwljuqdtp ywpniwlynn wpmwhwy-
wnnpyni, nph wpdbtpp |huh 580:

EEE] dunip pwufiup whwnp k gnyg wnwt bplpnpn b Bppnpn dwdwgnygubpp:

146 ) Cwyhip BC hwwnjwsh bplupnipyniup’
ghwbwyny, np.
AD =31 W, AB= 12U, CD = 7 Uu:
P) Cwpyhp CD hwunywsh bplupnipymup’
ghwnbitwyny, np.
AD =31 U4, AC = 24 Uu:
4) Cwyyhp AD hunnjush iplwpnipymup’

ghwbuwny, np.
AB =12, BD = 19 uul:
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bpynt i hudtafunp o luhe wlapp Fhwuply 546728 > 378305

wholiph putoulilipp: 546728 > 528395
Ulé k ugt ppafp, nph bhobph puinalip punp bt 546728 < 548375
1234 > 987 546728 > 546385
546728 < 546795
<wdwuwp piny uppbip niubignn pybph 546728 > 546725
hwdbdunndwl puyjuwpwphte npne wpnbt Swinp bu. 546728 = 546728
Lwdbdunnfip: w) 385 L 4589 p) 385 L. 4589
22024 L 22316 22024 L 22316
653214 L 653231 653231 L 653231
35647 L 35647 120024 L 119924
Uunnuith2p thnfuwppupp wjuyhuh pdutwum], np unwlwg
wihwjwuwpmpyniu:

W) 288<2+5  5712<57+82  P) 7412>74+4 52785 <52%15
7235>7+43 723578 >723+48 6507565+ 406754 <406+ 54
EZE] Rubipp nuuwynplip uuiquiwt Gupgni:
W) 55432, 6875, 436, 55429, 6869, 412, 99, 222222 8
B) 612, 9689, 23659, 99, 620, 9811, 24555, 999999, 9

m <wi2yhp wpmwhuwymmpyut wpdbpp:

w) 435 - (7000 — 6978) + 35400 : (2345 — 2285)
p) 434000 : (3454 + 3546) + 35 - (20520: 60)

w) 4 wpyn shpp hwjwuwp ququstbipny Juptiph b wnbnuwnply 50 winugh
Ubig: Uintmuinpyh wiprynp 80 Yq shpp 35 wynuhuh wnuhtiph dby, tph dhy
wpln sph quiiqudp 25 Yq t: ;

p) Uit mubip 3500 npuad: 2480 npud tw Jdwptig 8 U dwwwyku b 6 mtinp
qubipnt hudwip: Ypwywpupl wprynp upw dnin duwgws grdwpp bu wynuh-
uh 10 wntnp qubpnt hwdwp, bph dwuyuykuh 1 dnpt wpdh 250 npud:

.



(152 ) Unmitipiwgh puiph nwpninuaymup 60 | & 1 | piughtia wipdt 360 npuw:
YUpwnjupuphl wprynp 20000 npudp nuwnwpl pupp wdpnnemjht phught
1gtutipm hwdwip:

p) UWjundtiphuwgh pwph wnupnnmigjnip 60 | b: Pupnud Yu 12 | piighte: 1}
phughti wpdt 360 npw: Ypwjwpwipfi wprynp 20000 npwp pwpl wdpnn-
onyht phiighti gyt hwdwp:

- K] w) llnu.lghh dnpwlny 1 dundmd gpuijwquit Yupnn gyl 1350 | onip, huy
tpypnpnny’ 3 wquad phy: Nppwitt omp Yupny b opuwquitt gyt 2 dwinul
pym dnpujubpny Uhwdwdwtiwy:

P) Unwight snpuayny 1 dwdmu gpurgwiquats uapnn k gyl 1350 | onip, huy

tpypnpnny 2 wtiquid wfith: Nppuit gmp Yupnn b opuiuquits 1gyty 2 dw-
unud tipym dnpuljubipny dhwdwdwtwly;:

KB} 6 U 25 ud tpupmpyudp b 3 U jwyinepjudp gpujwquitth hu-
nwyp uwhuwunntym hudwp Swghlp huyphlh htin qluwg
uwhlutip panplni: Yuyght 30 ud Ynqung pumwlmuwdl bpyn
wnbuwhh uwhlubip, npnughg dh wkuwyh hwnt wpdbp 650 npud,
hul Ujnuhtip’ 700 npwd: Lpwiig mubkgws 145000 npuudp Ap
nbuwlh uwhy qubgmu Ypwpwph:

Ph[ll.[l.ub njufubppt hwdwwpwnwujuwl wuw, gk np
nuwnnnmpymub k£ dodwphwn:

 Unwohti wtnpnud Yup 3 | wybigh, pwt kpypnprnud:
 Unwoht wunpnud Yup 5 | wnjbith, pwt kpypnprmud:
« Unwgohti wunpnud up 8 | wybigh, put Gpypnprmu:
 Unwghti wnpnud Yup 13 | wybgh, pwb bpYpnpymud: &

5487 2348 6532
54687 12435 50423
424105 989874 321456

* N’ Yinp vwutyull E npgus pyht udbh dnn:
« N'p Ynp hwpynppualj £ npgws pypt wdbgh dnn:
 N°p Ynp hwqupjult Ewnpdws pyht wytigh dnwn:
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& Ywpnui Wehh dbluwpwiinipymbiubpp b wannuwupzbpp thnjuwppufip
hudwywinwuhiwl pYutywitbpng:

w) 83 pp 62 q .84
£ * % * ¥

Ny NI . e
2% 3k x 3k %

¥ ok kK x Qo ok ok ok ok

EEE w aplin 5 wjtwhuh pybn, npnughg wnwghp 25 t, huly jmpupwbgymg
hwgnpnp, uluwd bpypnprhg, twjunpnhg Ut £ 10-ny:
P) Sphip 5 wytwghuh pglp, npntighg wnwghtip 10 E, huy jmpupwtgymp
hwgnpnp, uljuws bplpnpnhg, twunpnhg Ubs k2 whquul:
Ubs dhunnpubiphg dblyl wpnwhwynlip
thnpp dhunfnpn: |
w)18op5d  p)24L4i528 q)3wn 500Ug
144 20 28 5 24 g 200q
27n 54 24 ud 700 279 504q

Uwipqfip hhannmipyniun:

K& Cuwn qdwgpnul plipyud iywiubph’ hwiylip ABCD, ABFE L EFCD
nupquilyniuubph dwlbpbutbpl mewywpwedtipp:

== =
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M wpnkl whing £
I;wpm{wkwn wuby b
Lhpuwinty wu Gutinup:

Uw qmudwpidwtr grignp-
r;wi;wzt awm#nwmhb x‘:

.......

_.+.se) + (12+ aa) =sm =

<wiypp’ oqunybipny gnidwpdwt qmqnpqwhmh hunnljmpynihg:

w) 700+ 630+ 70 p) 415+ 392 +8
120 + 800 + 200 + 40 330 + 700 + 300 + 15
5440 + 60 +493 +7 4550 + 50 + 395+ 5

- £ <wdfip wipywd Ynndbpny punwilywi ypupuwghdp' oquybnyg
qnuiwpdwy gmgnpuljputl hunnljnipynithg:

K <wudfip wpnwhwynnyeyw wpdbpp:
w) 45342 : 6 - 7 — (56452 — 4084): 8 - 46253
P) 45344 : 4 - 42 — (345668 — 14095 : 5)
Uld dhunnpubiphg dblip wpunwhwpnfip
thnpp dhwynpny:
w)20op 12¢ p)32Yyi60 ¢)2wn5g
21¢15p  1108us  23g15lq
45n 18y 330 6n0 32lq 509

"'wﬁmqé-ﬂnmqu _
210200 =201 12nd
691’51m 5g’f‘_!_-‘?fuq

Ix




Suilynpt muh 120 npuing wybih gnudwp, pul Upmt: Lpwbp dhwuhl mubi
1320 npund: Nppuit npud nth bpwtighg jmpwpwbgnipp:

\.

w) bplnt Yhg hnnuniuutiphg aih dwibpbup 225 W-ny dbs t imuh dulb-
pliuhg: Nppuit t hnquufnubinhg jnupwpwbsnph dwibpbup, bpk npwig pun-
hwtmp dwltipbup 2445 U° t:

p) Ywphtp hwnnnh hwdwp J&wpbg 450 npuuny wiftih, pwb nimdh hudwr
‘L nppuit Y&wphlg dpgqtiphg jmpwpwtsjniph hudwp, tiphk wyn qumudubph
hunfwp pnuudbiup Y&wphg 2650 npwd:

EE w) bpym putiphg dhlyp dymuhg ks & 325-ny: Swnlip win pbipp” ghunbugny
np npubg gmuwpp 4217 k: -

n) by pybiphg Uklp Untuhg thnpp k 365-ny: Swnlip win plpp ghubiw-
1ny, np npuitig gnudwpp 3217 E:
w) bph Swylh dinwwwhws pyht gndwpbup 640, Quwnwtwup Wpugh dinw-

wuwhws php: Mwpqhip, phnp pUbpl b tnwuuhb) bpwip, beb wn pytiph
qmuwpp 2344 k:

p) bph Cwudhlh dnwwwhws pyhg hwubup 45, Junwbwtp Wutwh dunw-
wuhw phyp: Munqlip, ph np pubmb by dnuwuhb] upwbp, bpk wn pybek

gnudwpp 2349 L:

Qunfip wyl pybipp, npnug wwppbpmpyniup 21 &, pul qmuiwpp’ 4483:
<wdhdmmﬁp:

w) 540 400d L 64U 200U n) 74q 850 ¢ L 8q200q
gU40ud L 8uU4nd 840 g b 8w 400 q
5uU75ud b 5u7nd 90w 10g b 91w
12nd8ul b 128 ud : 759 324q It 7w 532 4q




240 | dwuniph hynuep whwnp b gty Yuid 2 |, Yuid 5 | wwpnympyudp 22tph ubig:
2 |pnpuiting unwiply 2hot wipdt 100 npuad, huly 5 jhwpwtingp” 300 npuad:
Gatipp whwnp & wnbmudnply 1000 npudwung wplnbiph dbe: Ukl wiplynh Utie
Yuiptih £ nbinuynply Yuid 4 hwn 5 jhinpuiting, Yuid 8 hunn 2 (hipuiting ohy:
Uu swhuubiph wbuwblyniuhg np whuwlh 22btph oquiwgnpénudt k phy swhu-
uuwnwp: Nppuit b ugn Swhuubph nwpplipmpgniup: N°p 22bph oqunugnpémud
Ewdlijh bupuwnwluhwpdwn:

@ybpp nbnunplip Jpowtibph be: <D —
Upwpp thnfuwphinud k dbdh upwup: o

724, 35467, 35520,
781, 35099, 36000

Unwwwhfip dh phy: Uyn pypb wybpugpnt 15 b uunwgyws wpnyniipp
pwqiwuunnlfip 10-ny: Upyniuphg hwifip 150: Uydd wuui, ph hluy
phy vnnwguwp, b bu uubd' np phyu bu dnwupwhb);:

Nwpgfip, pb bu plswybu B, hupybyne, b blubiunfpy fulinhp Guqdfip no
wrwwplfip pultipngn:

Lwpgbipht Wwwnwupswufp putiwgnp:

« bplip hwjwuwp @iph gnudwpp 600 E: Nppuit kwyn pdtiphg tpYnuh
gnulwinp:

* bplip pytiph gnudwipp 500 E: dpwiighg ipynuh gnidwpp unyugbu 500 t:
('pl & ippnpn. phyp:
* Shtg pjiph wpnwnpywp 0 t: By upnn bu wuby wpunwnphstbiph dwuhti:
« Ywpnn t wpynp 10 hwjwuwp pytph gnudwpp Yyhpowtw 8 pywliywliny:
Uunnuishabipp thnpuwphufip ujiyhuh pwiwiibpny, np uinwgusd
pYEpp nuwuwynpyuwd |hubl wddwl Jupgny:
w) 8«6, 815, *05 q) 58+ 65, 581x5, 5+81+«
p) 5648, 56+ 5, 56 0 n) 4« 5878, 415« 72, 4158+ 4
<wipyfip wipwig:
* 250 (3254 : 3254) — (0 - 215 + 250) — 0 : 15432
* 95+96 + 96 + 96 + 96 + 96 + 96 + 96 + 96 + 96 + 40
| R 2-2-20-5"5:5+5-5-5
Upuit wuipgbig, np pnpnp kpluh eybipp gpbpnt hwidwp oqungnps-

Ynud £ 180 pywiipwis: buly nnu thnpédfip wwpgky, pb pnpnp bnwth)
PUtpp qpbipnt hwdwp pwith pywiywl whwp k oquuwgnpdty:

'; <wyfip DB hunnywdh bpljwpnipyniup’ ghnbuwny, np
. AC=41 ud, AD = 16 Wi, BC = 9 if:

A D o
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Fnz wpnkl ylopp
I;;g!uqzhwu }:mﬁz L
P ¥

Vw pqu&mwktfﬁh qui- )
qnpnudlpual husplnipymict

2.4 '40" U" (zm'. (6 m)~aom

180 Lwipypp’ oq.uu[h[m[ puquuuuinlpdu gnignprpuljut hmmhnlpjmbhg

w) 7605 P) 6-40-5
172-2-5 5-20- 314
60 50 - 90 70 - 50 - 40
5-4-5-4-5-4 6:5:6:5:6:5
2:4:3-246-7-5-2 3-3-5-6+8-9-2-5

] 9swuyunnybipht hwdwuuwnwujuwl Yuwquilip wpnwhwynnpyniu b
hwdhp wndhpn'

= G A0 ) B

|
R

| !—13163] [ ]+[ 30186

EEA dhpwlwhgqupip hujwuwpnygyniiubipp:

w) 2yd=0C] +14u 2004 p) 2yd35040+ [ =3yd
8L4d=0]+44d 9004 7Hi5500+ [ =100
60=[] +2050ud 2025ud+ [ =30
12ud =[] +10ud 6 44 2ui2 00+ [ = 15ud
14ni=[] +10nd 7 ud 207n0+[J =184
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Lwibdwnfip: w) 549 600q L 64q500q p)234U30U b 30 Yu 23 u
12n40l4g b 12wn4g I2nd5ud b 10 nd 8 ud
Ng65h4g b 1w 70 Yg 3U24ud b 2U3n

K] UWjumibiphiiuat: 2 opnud wiguay 300 YU wiwwguph: <wipybip, ph nppuit
dwtiwyquph £ wgh) tw jnipwpwitsmp opnud’ ghwnbiiwiny, np 1-hu
L 2-pn opu umgum dmhwlqmphhhph mulpphpm[a]mh[_l 50 I{I.I o

|011
lfop 508 } o

1-pu b 2-pn opyw whigus gwwwwphtbph wwppbpm-
Rynitp 50 YU t, nui bpwbwlmud t, np 1-ht opp tw mhghl
" L 50 Yd wybyh, put 2-pnopp:
bpl 2-pn opl wglibpn wjtipwl, nppwl wghy kp 1-h
~opp, wyw bipynt opnud Upw wligms dwtwugwphp l.“j\h!rp
: 300 + 50 = 350 (L)
350-p pudwitibyny 2-h' wupgnud Lup, ph nppm'u dwliw-
wwph b wlgh) bw 1-ht opp.
350:2 = 175 (L)
175-hg. hmhhlml 50 hummtru:ﬁp ph nppuil Swtiua-
wuph £ wughy bw 2-pn opp.
175 - 50 = 125 ()

'f.‘mq;. 1- {:h onp 175 Ik, 2-pn onp 125 l[t[

bu dypwonid il
Lol wipuy b,

huly nn” pliswybu
I hpdnul:

EEE Ywpngnud um[npnui k 450 mzml{hpm UnohYubipp 12-ny phs it nquitiphg:
Lwuf v E unynpmd wyn nupngnd:
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huly tplpnpnp 612-ny thnpp & tppnpnhg: Npriup G wyn pybpp:

EE Swinhlyp gniywwibip gnpétipm hwdwp oquiwgnpsdtg 140 U ply Juwniyn,
Yupdhp b uwhwl gmybiph: Ywwnywnp 25 d-nyg bplup bp Gupdhphg: Uwgh-
wnwlp 14 U-ny Jupd tp Yupdhphg: Snipwpwtsinip gnythg pwtf dtunp phy
[ oquwugnpst wnwwnhlp:

bplip ywplbpnud Yu 135 Yo gnpli: Unwghtunud Yu 15 Yg-ny wylith, pub
tpypnpnud, puly Gpypnpnud” 12 Yg-ny wwiljwu, pw Eppnprynud: Nppuit gn-
pht Yu jnpupwit jnip wwupynud:

m Cunnwiljh 1 U? dwljtipbiu niutignn dwup tbipljtgm hwdwp wuhpudbywn t 400 q
ubinly: Nppuit ubipy & hwplunp ubtywlh 5 U juyungegudp b 6 0 bpljupnue-
Judp mnutlymuwdl hunnwyp tbipgne hwdwp:

E] fowmp phphght dhbiny nwpnnnupjudp 250 2h) shpwth b dwuniph hynup:
Epp Judwnbght 25 7h dhpwuh b 31 php dwunph hynip, wyw uwbmienil
Utwg hujuuwp pwbwynipjudp shpwth m dwuniph hynie: Lwih ohy shpwuh
L pwtifi 22 dwumph hynip bp unwghy uwtngep:
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Uyt hwipghly, pb puwith wwpbjuwt k bnpuypp, Snhwpp wunwupiwub
«bu 15 nupbijwl td, 5 wwph htinn inpugpu 2 wagwd thnpp Yihuh huduhg:
Fupn huwyhp, pb wydd pwth wwpbyjwt E igpugpus:

FER] U.unnuiihobipp thnfuwphulip hwdwwyuwinwuewt piuwtiuiiipng:

w) 324 P 168 9) .542
* % * % * *

4+ * *x8 4 % kKK .
* % x 0 * % K * % %0

P vwa4 X

Unwiig wipdbpubpp hwadbng, wpmnwhwypnmpymuubpp quiuaynplip
wddwl Yupgny:

MNunwufuwlpp hwpgbppl:
* Rt dhunp k wupmuwlmd 3458 phyp:
« Rl hwpynipyuy b wupniiwynud 26452 phyp:
* Rwlf hwpympyuy Ju 26452 pyh hwpynipjulubiph Quipgnd:
« Rwltf Yupquyhtu dhwynp Yu 34698 pyh 4-pn hupgm:

PhpYwd puunnnnygywp hwdwwunwufuwt g unybybu wow gh
pwith ophtuly:

Yuiprin £ wprynp 10 hudwuwp pubiph gnuiwpp depguitiug 5 puw-
twlny: Ukljuwpwupp wyjunnwufuwn:

Uwipqfip hhannnuegniury:
am +18

o R ﬁ_, -190, o

EEE] uskip nplik A Ytan: Suip bphne nnpnuubp wiiwbu, np A Yenp dhwdw-
dwlwly yunnlwup npuiighg jnipupwiigniphl: Lownulfip vinwgyws
dwnwquypubpp nwebkph gnygbipny b qpunfp gpuiup: Lajip 2 wu-
whuh Yk, npnup sku wunlwbinu wyn dwnwquypubphg ny dkljhu:

+28 D-45 D.-ss O
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FIT) <woyfip wpnwhuwynneywl wpdbpp:
W) 193+194 +195+7+6+5 p) 498 +499 + 500 + 501 + 502

297 + (3 + 238) 640 + (60 + 186)
2:2:2:78-5-5:5 2:2:2:99-5:5-5
50 - (20 - 27) 20 - (50 - 90)

FX3] <woytip wpunwhuwynmpyuu wpdbpp:
w) 37 (709 -5 - 55) + 64000 : (250 - 8)
P) 88- (5316 - 48 - 12) — (7922 - 1188)

dwunpulubpp thnfuwppufip wyuwhuh pydbpmyg, np unwbwo hunjw-

uwpnyniiubp:
w) £ + 314 = 4521 P) 32784 = 24205 +[Z] q) 50604 +J = 73485
] - 448 = 2574 45214 = 65421 - [ 40607 -] = 2208

Spwd pybipp nuuwynpfip.
w) wddwl upgny
22024, 7845, 324, 22105, 7842, 350, 16, 333333, 5

p) iuquwt Yupgny
324, 1875, 35687, 24, 371, 1880, 35609, 777777, 7

Uuwnnuwuhp thnfjuwppupip uyinghup pluwtywing, np unwtnoes wis-
hwjuwuwpnygyniu:

w) 567 <5+ 5 60812 < 60+ 05 R 7614 >76+4 87654 <87+ 105
8172>8+88 123178 >123+78 1234 > 12« 206752 < 206+ 25

HI Lpwgprit winynuwlyp:
m)q'mtlmﬁh]b 55555 8888 P)Lthm | 44444 3333
Smunty | 6606 | 7777 | [cwish | 000 | 7777
Gnudwp 11111]22222| | Swpppnpynit 777 | 888

Ywqdlip wpnwhwynnenis b wwpgfip.
* Nppwlny whunp t 4530-p dbdwgul)’ 5000 unwbwgnt hudwp:
* Nppwliniy wtunp k 4530-p thnppwgtity’ 3000 unwbugnt hunfwp:
* Pwtfi dhunjnpny k 3459-p Ubid 2516-hg:
* Pwtfi dhunjnpny t 6548—n thnpp 78961-hg:
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Gppp wuhwjuuwpnipywl wmbupny:
« 324 L 215 pytiph gnudwpp Utd k 324-hg:

» 324 L 215 pytiph vnwuppbpnipyniip thnpp £ wyn pyliph gnidwphg:
« 250 L 50 pytiph wpunwnpyup Jdté & 36-hg:

* 250 b 50 pytiph wpnumpyup s §wn pYtiph pwunpnhg:
B upunwqplip' wumnuishobpp thnfuwphubng hwdwuunwuput pu-

Lwhibpny:

w) 3*35 p) *18 q) 223%* 4] 2%2
+ 405+ + 164 % + *005 + 3304+
272%7 309+5 17*34 7*2%07
** 528 **x 005 *2474 *x4%*293

EXEE] Upwt hwyphyh htan dwdp 7 : 00-ht bpliwtihg dwtwwwph-
ytig Unbhwmbwltipw: Kwtwwguphpt 1 d 25 pnyh jutg
wnwt Upthw glinnp whht b 45 pnygt’ Snphund: drundp
pwithupt upwtp hwuwt Uintthwbwlbpw, bph tpubg
wtpunut ipputiympynup wnltg 6 ¢ 20 pnyt:

w) bplynt pytiph qnudwpp 2410 E: Gphpnpn phyp 420-ny s b wnwght pyhg:
Npntp b wyn pyYtpp:
p) Gpym pytiph gnudwpp 1852 t: bplypnpn phip 450-ny thnpp £ wnwght
pyhg: Npntip biu wyn pytipp:

w) Gnhp wyli pYtipp, npnug gnudwpp 3450 b, hulj wuppbpmpgmup’ 520:
p) Swnhp wyu pytipp, npnug gmudwpp 3450 k, huly mwpplipnygymup’ 0:

w) bptip pytiph gnudwpp 1230 E: bpypnpy phyp 42-ny Jdts £ wnwsht pyhg:
Eppnpn phyp 54-ny Utis L wnwgoht puhg: Npntp &b wyn pdbpp:

p) bptip pytiph qnudwipp 2380 E: GpYpnpn phyp 52-ny Uks £ wnwght pyhg:
Gppnpn phup 60-ny thnpp & wnwght pyhg: Npritip bt wn pytipp:

BZ& botip putinh gnudwnp 852 E: Unwight phyp 45-ny ubis & iplpnpnhg, hul
tpypnpnp 51-ny dké £ tppnpnhg: Npntip ta wyn pytipp:

Untwtt m Wuht kb punwdbtp 62 Gupdhp b 38 Juibiws nynip: beh Wahu
10 Yupdhp nyniip v Untiwgpts, huly Untiwt 4 Yuatiwy nynup vw Wahht,
www tpwig updhp mymupubiph pwbwlubpp ppup Yhwjuuwpyty,
Qutiwgtipp” hpwp: Rwbp Yupdhp b pwbf fubws nymiup mup Untiub:

w) Ywpybinnp wyuwnh dwltiplimyph 1 dzdml{hnhun Yhpwtinpngliym hwdwp
unwinud £ 1200 npud wyiwwnwyuwpd: Nppuit YYwuquh qupybnh 5 opgu
whuwunujwpdp, biph tw 1 opnud Yapwunpngnud £ 4 U? dwybipbu:

p) ‘tapdwlp 1 wunpudupnpp Juptpm hwdwp unwand E 3000 npud w)-
fuwnunjwipd: Lw 1 opnud Yuapnud t 2 wunpuwywpwnhp: Nppuit b jugudmd upw
Uty puwpwpyu wpuwwnmwupdp, bph gupwp b Yhpwlhh tw sh wyuunnd:
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-‘ﬂmmwutuwhhp pwwnp:
w) bplm pybiph wiwpplipnuggmup 200 E: @ajtiphg dtiyp 500-u L: N"p phyp
Yupnn k (huby dymun: Ruwlf pridnad nelsh wyu ulinhpp:

p) bpym pulipubiph mutigws npudubiph wwpptipnipyniup 1200 npud
Lpwiighg Utih Unin Yu 2500 npuid: Nppudt npud Y djnuh dnn:
Luwlft jnidnud nish wyu fuinhpp:
MNuunwufuwupp pwbunp:
* Nppwtny Yhnppwtw phyp, biph tpw hwqupwynpp thnppugubup 2-ny;:
 Nppwtny Yubidwbw pumulhhz rhyp, el upw qpmipjutp dwhihg
Lowgphtp 2 pywtywtn: Uuw ophiuulip:

Uwpqpp hhannnigyniun:

w)18 + 18 P) 160 : 2 q) 3-2 1) 90 - 18
+18 12 “0 -18
+18 12 «2 -18
+18 12 2 -18
+18 42 s -18

U.m.uhg hwbpnt wuw, ph np wpnmwhwpnnpgmivubpu Bu hwwowp:

250 +450 (100 + 250) + 450 [350 +250 (450 + (100 + 150) 450 + 350

[(100 +250) + 250  [(300 + 50) + 450 | 200 + 50 + 350 {100 + 150 + 450

FEI Unohliubph winiibipp qplip tpuitig inwphplibph buquuts Gupgnd:

Uthle dleo | U Swwdplihg, U Untiwghg: Fpbaputs shnpp E <wwdhlihg b Ywph-
ulihg, wwlpuyu dkd F Untnwghg: Swwilhlyp dls © U Ywphtlshg, U Untuughg:

Uwipgpp nwnpmipyniun:
q‘ﬁlﬂl‘lﬂ, b'wbl’hﬂ /] q&hﬂ mq}mumlm . ses | ee . se |00

wuwhuwpwtling Ylnkph nhppbpp: shfrsel s |eoni en | ¢
FEF Uwnqlip hhannnugniun:
. 60 40 i 1422 - ) —
e 0 e 120 o2 8 L 00 i
FXE] u.pinwiqpfip b, puin ophuussuhnipyusts, ipyuws pitiphg htun gpfip L
3 phy:
w) 2,4,8, .. 01T, 1421,

m Oquugnpdtiing thwljuqdtp b puwpwbwljul pnpnp qnpdnnnipyniu-
ubpp' Yuwqihp wpmwhwynmpyniu, nph wpdbpp |huh 3000:
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EEH ®npalip hwuljwiw puqiwih) phyp brwih) pyny puquwuuwndul
uynuwlwdl gpbym nuitwlp, b wunnuishabpp thnfjuwphupip hwdw-

wuinwujuwl pduwtipwtiunbpm):

w) 423 p) 2457 q) 3004 n 1244

‘184 325 237 205
Tx %2 12% x5 2x0x * 2% x
T33¢ s TGk T90w» "0000
*23 7*71 6+08 2*x8
Txx 3% * O % 2% * 1% x8 * 5% %0
Lwypp wpnmwhwpnnipyul wpdbpp:
w) 585 - 55 p) 6702:6 q) 548 - 66 n 6072:6
828 - 882 9189:9 555« 555 9918:9
625+ 304 - 7700:50 642 - 704 3400 : 50
8624 - 126 6090 : 30 1932 - 126 6018 :3

Luwipypp wpmnmwhwpnnipyuwl wpdbpp:
w) (700209 - 524 - 415) + 64400 : 400
) (153 - 126 — 58 + 24) — (8000 — 3547)

Ywinwplip gnpdnnnypniiubipp:

w) 60q — 270q p) 25g-61lq
12g-82Yq 72g42lq - 65uUq
7w -5g 5mn-5Ug

5Uq400q-600q 22wn2g-8g




Spywd pybiphg puwnplip uyu php, npp wknunptipnyg b-h thnpuwpby’
YJumnwbwu hwjwuwpmnypynite:

w) 4800 + 200 =b + 1500 p) 2850 + 150 =b + 1000
1400 - 800 =b - 100 6000 - 3000 =b + 500
2250 - 150 = b + 1800 5450 — 2450 = b — 2000

: m) bpbip wuiplhphg mnmghhmﬂ Jup 140 pulynyq: bpp wnwehlihg 20 pulnyq
19nht tipypnpnh Uk, 10-p- ppnprh dhg, wuyw wwplpmd pulnygh putiuy-
ubipp hwjwuwpytght: Lwuh pulymyq Yup wyn wwpltpnud dhwuhl:

p) bpbip wwpltiphg wnwghtnul jup 200 pynyq: bpp wnwghuhg 20 puynyq

1gnht bplypnpnh dbg, 10-p° bppnpnh, www wwplhpmd pynygh putwyibpp
hwyuwuwpybight: Rwiuf pulynyq Yup bphpnpn b bppnpn wpuplbpmd dhwueht:
- EERIbote wplnnud Ju 75 Ug fubdnp: bpp wnwighl wpynhg 3 Yg U bplpnpnhg
2 g 1gphu ippnpnh Ut wplnbipnid juidnph pwtwlubipp hwjuuwpybg:

Ruith Yhngpwd futidnp Yup wpynbpmd bwupw inbnuithnjunigimbbbpp:

/ Seastun

G

w) bpbip pphgunmu Yuyht 150 pwlynp: bpp wnwghthg 10 hngh b tippnpnhg
8 hngh wtimunhnjuybight bpypnpn pphqun, wuww pphqunibpnud pubiynpubiph
pYwpwtwlubipp hunjwuwpbght: Pwth putnjnp Jup jupwpwbsnp pphqu-
nmu twupwtt inbnuihnfumpymtitipp:

p) bptip wuhbunubipmu punudbup fup 540 wupl wyynip: bpp wnwshthg
20 wwpl wkmuahnjubight ipipnpn b 15 wwpl' bppnpn, wwhbuw, wepu ww-
hbuwntbipnud wymph pwtwlubpp hwywuwpybght: Lwf wwpl wynp up
Jnipupwlsnip wwhbunnud:
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Cultipnon htwn Yuwpnui Uuhh wnwgwipljuwd juunhpp, thnpétip
hwuluu'luu[ [m(‘uhuh Ehpmgpn b pmdh| bwbh dymw juinhpubpp:

w813 mmpmzmwwfé };wmwﬂb nnygkp:

Bu dipwdnud ol

bpk 8 |fupputing nnyjp wmfzenww 1giliip
opny, wjunthlnpl wyn nnyihg jgUklip 3 [happulingp
walpnn onippudp, www 8 jhappwlingnid §ntuklauip
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~—— SR
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nuwnwpl wdwbtbp: buswtiu nuwnwpy wdwbtbp: Puswtiu dnpulhg

énpwiljhg Ylpguly 1 jhnp gnip: Yupglty 9 {phunp gnip:
PER Ywpnui wpmwhwpnnipyniup b wuui gpu wpdbpp:
«400+127  +2054-14 « 2564 -400 < 256-100 < 7-24
« 348 + 300 *« 2436 - 236 = 467 +12 = 4500 : 900 *45-6
FXH Uwipglip hpananipynin:
+25 +25 +80 +40

222 %m0

EEL] 174, 36, 77, 18, 188, 182, 123, 12, 26, 164 kiphg puwplip Bpyne phy,
npnug qnuiwpp 200 E: Cownppp uynuhup pybph dh pwth gnyg:

_|

Yuwpnu Uygh dEjuwpwtingeymitiibpp b funwphp wnwgwinpwpp:

Upnud Bup wyn Qwnwquypht wwiplpuling nplk

5 Upnlsk qfuplu, np dunuquy FE Y up wjurylbou.
g \ o Vel Vot oo i

- _ Ophitauly* AB, AD:
N Y dhpp Wlpuplighp’ AB-, AD-u dhuchuiuluul
O hunhusunpuipuul husprwd il gpannulubpl ki
Wn, phwplls, AB-u, AD-u dfuudwidutonl
- hunlwvpupuwnhaal mqhq&%ﬁm@mmﬁkph lite:
Muulp quituquidn hudup jrmuf hp m;mq!m.
AB munhnp, AB hwynjudp, AB unuquipp:

%shp nu]j\q b tphp Upwl wunnljuting hplzp ' M, N, E: qumqnnéhlnq
wyn mwnbpp’ Yunwiphp wyn mnhnh popnp gpunnuidabipp: Spwnhp twb wnw
owgwd Swnwguyptbint nt hwnywéubipp:
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@npéfip hwulwuwy puqiwihy pyh pudwunuwip bpljuhy pdp gplipm
wlyniiwdh bnwbiwlhu b wunnuishbpp thnfpuewphuby hwdwegw-
nwufuw pYwiyuwliubpng:

7840(35 P) 8303|23 9 _64604|62 ™M _75025[25
70 2 %% 69 ’_3_*1: 62 *04 * 15 ‘*_601
_84 _140 260
70 * ok * B R
_T40 2« 124 0
140 793 Tk
0 -0 i
m‘-lmmwpﬁp pwdwunu b wpryniupp unmnighp hwdheny:
w) 2170 : 35 P) 1428 : 14 q) 58500 :25  n) 4590 :45
7310 : 34 114036 : 36 1472:23 19965 : 33

Yowwuwnljiph hwdwuwpwinwuluwy uqdlp wpomwhwpnngegnit b
hwlip wipdtipp:

) M}{%@ @% P) [20000\|;—!/5/618—\ @%—}16_9@
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Ywnwppp qnpdnnneyniiutpp:
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Wutwt 6 am qubipm hud
qubg twl Untwt: Unbwl

305/

Em 15 g Yhnwul wpdh wjpwl, nppwl 12 lq Shpwlp: Hpmn{mnwnﬁ wprnp
4000 npuadp 5 Yg Yhnwwu qubgm hwdwp, bpb 1 ljq Shpwtl wpdh 900 npud:

Spwd pikphg wnwbduwgpnt wj pYbkpp, npnup wnbnunpbny a-h

thnfuwpb’ unwiuw wuhwjwuwpmpymi:

"0, 88, 6784, 5147, 321, 12591, 1, 655654, 100, 3645, 324 |

w) a< 1200

p) a > 4587

q) 5000 > a
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bu dyponad Il wpuygl,
Py nrit sl b dlipudnak
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w) Wuht qubig wntwdwnh 6 fuwnuipp b J&wphg 480 npuud: W unyl fuw-

wp Ydwphg 330 npund: W unyt dYtiphg 8 hun
nppuit Y&wphg hp guwd dytiph hudwp:
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Uy i g gl g wndt § dmi

nuihpubiphg Lmupubku qutig 8 hww: Nppwit Ygwptig Lnuput:

p) 50 U kpjupnipyuidp dhnwnuijuph thwphpl wpdh 7500 npuad: Jwputinp
nppuit whunp ty&wph wyn puphg 24 U gt hudwp:

q) 20 pkiughut wpdt 6800 rypuu: Nppuitt whwp t ydwpby 15| phughuh

hwdwnp:

5 wwnuyunult wpdh 400 npwd: Upwl qubg wjnwhuh 6 wWwnwunuly b
Jdwptig 1000 npund: Nppwit npwud whwnp E upwl ybapwnwpduh yudwnnnp:

Lpwgprit wrpgnuwlp’ ogunjbpny bpwinud plipduwd wnjyujubiphg:

Wtit, Untiwt m Ubht niukl pnudbp 72 mymup: bpb Wiht hp nymige-
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Uunnuihpp thnjuwphulip wyuwhup pwiywuny, np unwiwo
wuhwywuwpnyeyniu:
w) 364 < 3+5 6298 <62 +9 P) 6254 > 62 +4 12654 <1200
9547 > 9«43 345171 > 345%90 3015 > 305 101801 < 101 =01

Eil] Vwpqlip npunpniggniun:

Mawnhp nhiphp, Swdlipp l
wuw, ph hly ohpldwuphdwi
L gnyg ypuygpu gbpaliusue-
thikphg jnipuupwin prapp:

Qw[u].u.lmnu.hnui Yw 12 fuwpdhp, 18 uyhwnwl b 15 Yuwnyn nyniup:
w) Witiiwphsp pwli nynitp whnp b Jtipgubu, np hwdngyws |hubu, np
npwughg gnub dbyp Guwnywn t:

p) Wititiwphsp pwitifi nymp whwnp k Ytpgubu, np hwinqywd |hutiu, np
npwg dtip Yut gnubk dbjwlwb uwpnwy b fuwnywn nyniuplbp:

q) Wdbkitwphsp puiifi nymp wtnp k Ytpgbu, np hwingywsé (hutu, np
nputg Uk pninp gnijutiphg gnub dbijuljwb s
EXF Uwinqlip hhonnnueyniun:

%40 &R0 e D - 18 A . il e

B R RS ER T -E R

Ph[u[ul& wywjubipht hwdwuywnwuiwl' wuwi, ek np pumngne-
Ryl k dodwiphn: |

* Unwohti wunpmd Yup 3 1-ny wyligh 9mp, pwl bpypnpnnud:
* Unwightt wtnpnud Yuip 5 1-ny wjtith gnip, puiti bipypnpnnud:
* Unwiohtt wtmpmud Yup 8 |-ny wylith onip, puitt biphpnpnnud:
* Unwghti wtnpnud Yup 2 |-m| wytyh 9nip, pwti ippnprynud:
* Unwightt wunpnud Yuwp 5 1-m] wjlgh 9mp, pwt bppnpnnud:
* Unwighti wumpnud Ywp 7 j-ny wytith enip, puit bppnprnud:
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Epp ngnud il pwqrfmwwml;mﬂg'
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Yunwiphip puqiwuwnlnuip b wpyniipp umnnighp pwdwlnuing:
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Lpwgpnt wnymuwlyp:

w) a 215 | 555 [ 707 | P) a 3044 |64080| 9000
b 3006 888 6000 b 238 5802|9
Zab6] | | | [2Z-Be _

EXE] Mwwnwuliwufip hwpgbppu:

w) 5 hwwn 12 jhipwiting nnyjtiphg jnipupwtsjnipmid Yuw 7 jhuip 9mp: Cunu-
dtiup pwff thwip 9nip Y wyn nnyjipnud: Cunudbup puitif thup onip Lu Yu-
ntith E gt wyn noyjliph dbg:

p) 5 hwwn 10 jhinpwting nnyiliph Uty Yup hwjuuwp pwtwlnipjuidp onip: bpp
Jnipupwtispnp nnyh ke wgbjugpht bu 2-wljwt jhinp, www pnpnp noyb-
prud dhwuht iy 40 | gnip: Nppuitt gmp Yuip nnyjtiphg jipuwpwtisjnpnud:

q) bpp Umpbiup hp noyjtiph dtg wybpugplig 3-wljwb jhnp gnip, nnyjpnud
oph punhwtmip pwtwlu wybjuguy 24 |hnpny: Rwtth oy mubtp Unipbiip:
n) Uh pwitih nnyh dtig Yup punudbiup 48 | gmp: bpp Swyglu wyn nnyjtinh dby
wytjugphg 2-wlwl jhwp 9mp, noyipnud oph punhwump pwtwyp nup-
dwy 64 (hwp: Rwltih nnyp onip Yuap:

EF] Lpwgpric wynwwlp’ oqunfbiny plipgwd i juiubiphg:

Ulnjwlinudp - 1Lwnuh 2 winth 5 winuth 10 wanuth
Ohtthwiwashy 1500 npuwid
Qnibwynp pninp 4750 npw

EF] w) Qurglih n Ywpbkth dnwywhws pybph wwpptipnipniup 400 E, huly gnt-
dwpp’ 1000: Np pytipl b dinwugwhby bpwutp:
p) Uniptith m Upwdh dinwwywhwé pytiph gmidwpp 500 E: el Umiptiuh dwnw-
wwhwé pihg hwtbiup 20, hull Upwih dnwwyuwhws pyhtu wtjugubup 20,
wwu Junwtiutp hwjwuwp pytp: N°p pybpu b dunwwwhtb) tpubp:

w) Uinwwuhtiy td Uh phy, dbidwgpby bl wyt 78-ny U wipryniipp Ypyht db-
dwgply 22-ny: Uprymupmd utnwghy bid 240: N°p phyu bl dnwwuhb:
p) bpl Upugh dnwwwhws phyp thnppugutiip 54-ny, wjunthtiinl uunugqud
ehup Ubdwgubip 154-ny, Yunwtwip 350: N"p phyt b dinwwwhby Upw:
Uywnubiphitiualt wnwightt opl wiiguay] 240 YU dwituguiph, npp 3 wbiquad

wtih kp bplpnpn opyw wigwshg: Nppuit t wnwght b bpypnpn opyw wh-
gwé dwhwuywphubiph wwppbpnugyniap:
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EFZ 0qulip nnuiubkppt’ npnpbine hpkug quitquuwdubpp:
Upundp, <wylyp, Ywpbup, Swghlu ne Unipkitp Yynytightt b gpuitgylg htinl-
Jjup wpryniiplbipp” 36 hq 300 g, 38 g, 41 4q 600 g, 36 g 600 g, 41 jq 800 q:
Uwluyt upwitp pgmply Ehu wpnyniupubipp, pwyg hhpnud Eh, np.
Upwalp dwlip bp Ywplitthg & Umiplivhg: <wglip owup bp Unipliuhg b Fuqhlhg,
uwlpule pliale bp Wuplishg: Fwqhlp plpl bp i Uniplichg, U Ywplithg:

bpym wunpubpnud Yw hunjwuwp puwtwynipyuidp

onip: bphk wnweoht wunphg Epljpnpnh dke |gukup
3 | onip, wyu Gphpnpnud Yihuh 2 wiquid Juin,
pwl wnwohunul: Nppuit 9nip fw wunpukphg jni-
pupwtsynpnul:

EFI] tounhpp inidtip putiungnp:

« bpym pytiph gmdwpp 400 E: Snudwptyhubiphg dtiyp 150-u k:
N'pu k dmu  gmuwpkh:

« bphp pytph gnudwpp 800 t: Snudwplijhuliphg dklyp 240-u t: Nppuit £ djnu
tipym gmdwpbhutiph gnudwpp:

« bplip pyliph gnudwpp 1000 E: “Fpwtighg tipynuh gnudwpp 700 E:
N'pu b dymu gmdwpbhu:

« a, b, ¢, d pytiph qnudwpp 100 E: a, b, ¢ putiph gnudwpp 72 k: N°pla t d phyp:

Zwnikuwnnhpip: Ubhpudtmnyagni ui wpynp hwpdbpm wponwhuay-
iyt wpdbpp:

w) 934 +85 [ 934 + (85 +45) P) 6245 + 842 [ 934 + (842 + 64)

518 + 67 [ 518 + (67 — 54) 7418 + 336 [1] 518 + (336 — 88)
324 +45 [ 324 +(45 - 15) 3202 + 435 [ 518 + (435 - 26)
EFX] vwpqfip hponynupyniun:

i SO L T 1D £200 it 128 BT e+ 40
—[]——[ | —— 10| —[|——[ ——[]

EE] Ywpnui wpnwhwpmnyggniip b wowl gpu wpdbpp:
« 99 + 101 » 92+ (8 +76) « 7-(85-15) * 15:25-14-25
* 99 +99 *+(63+80)+20 - (78-28)-30 =+ 4-48+6-48

dtin ABCD phipwyp, nph AB nnp 4 ud 3Ud t, CD Yynnp’ 3 ud 2 Ui, huly
philunh tplupmpymup 10 wd:

Gshp AB hunnjwdp b tphp tupwt wuwnluunn C, M, N, E Yhnbipt wjtuwtiu,
np C Ynp qungh A b B Ylankiph dhol, M Ylnp® A b C Ytantiph dholy, N
Yhnp' C i B Ytantiph uhol, huly E Ywnp' C b N Ytantiph dholi: Spunhip wn
dwypwltintipny 10 hunydwd:
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Enp mgnid il puqiwyuplnedp §
wipniqly, hponud b bhpwmu:{ ol |
wju fubiniyp: -

Ophtwl” Yunnwpbup pwdwunud b wyu unnigbup puwquwuyuwnlnuing:
2982 : 6 = 497 zsaz&_ Ummq.md 497

%a
i

- Yuwnwiphp pwdwlnuip b Luprum‘bp_n ummth pulqllmtqtumlmuim[

w) 8536:8  1530: 45 R) 7206:6 15732: 23
5607:7 1476:12 1260:9 21264 : 16

Puquiwwunnynuing uinmqpip® dhown E wpynp junwpyb) pudwunuip
w) 4995 : 9 = 555 P) 9240:70=132
42560 : 70 = 608 71600 : 40 = 1790

<uwiyfip wpnwhwynneywl wpdbpp:
w) 4000 : (255 + 65 - 87 : 39) R) 27600 : 12 — 142 - 25 : (324 + 176)

45000 : (70 - 25 - 38400 : 24) 25600 : (100 — 84) - 55 - 55

Yuwunwphp qnpdnnnipymutbpp:

w) 36on 10d-60on 18d p) 360opn 10d -6op 184
22d30n-44d33p 22d30n-44d33n
17n 54 -6 454 17n54-6n45y
8on12d-7o0p 224 8on12d-70op224d

i '6& If)p 46403*




Munnwujuwtip hwpgbippt:
o Nppwitiny Yubdwtw phyp, tiph tpw 4-pn upgmu gpywé pywbywip
dbdwgubtiip 3-ny:
«N'pu £ pyh gpnpywits 5-pn Yuipgh Yupgquyht dhwynpp:
« P'ug E gnyg wwihu pyh gpniejuits joipupwibsjnip pywbpwi:
Oqunybny puipuinbighg b winyniuw-
Ynud ppuws nyyuubphg’ |puwg-
pnt winymuwljh punwply
Jwinulubpp: Qynudph
* N°p punupl  bplwuhg wykh ‘
htmm’ Rlpnp, pl Ywuywtp:

* Np punwpl £ Mhihswuhg wylh
htinnt Gpliwtp, ph Alpnp:

Puwluwduypp | bplwt | FHhihowl
bplwl | .97
"!-h[]'lgu.l'u_ i 97‘!:|.l] = :
Ptpn 82 yd
Ywwjwu -§-(':)_2ﬂl:|—tf-

w) Swylyp qubtig 25 wbhnp n 2 opughp b yudwnnnhtt nglig 5000 npudwbing
Ukl prewnpud: Rulfi npud whwp b ybpuwnwpduh Judwnnnp, ph nhnp
wpdt 80 npud, hulj opwughpp wnbkwnphg pwty £ 4 whqud:

p) 3 pintwwnwp dhpbuwbbp ntmuthnfumd tha 12 n 800 g ddbipnily:
Unwohti dhiptitwynud Yup 3 n 240 Yq, tpypnppnd” 1w 120 Yg wyglih, pul
wnwohumud: Nppwit ddbpny Yup bppnpn dbphuwgnud:

w) 8 U dwwywiytiihg Juplih £ uwuwnpuuinty 16 Yupn: Nppuit dwwuigbu k
hwpluynp 50 Jupn wunpuunbgne huwdwp:
Ywpnn bu dwwun]kiuh plpupniaynip wppwhwpply wwiophdloppbipny:

p) 2 qunuunulu wpdh wjupwl, nppwti 4 pihpp: Wpwdp nppuit wtunp t
Ydwph 5 wunuunuyh hwdwp, bph 5 pthph hwdwp Jdwphy £ 200 npud:

bpym dbiptituwgmud Yup pumwdtiup 8 wn 800 g hwgwhwwhl: Fpwugmd
hwgwhwwnhlh quugyustbipp hwjuuwpbgubynt tuyunulynyg wnweht dtkph-
uwyhg 350 Yg hwgwhwwnhl ntinuithnjutightt kpypnpnh dbe: Nppult hwgw-
hunnply Yup jmpuputyymp dbphtwymu twupwtl inbnuthnjubip:

2npu wdumpniund fup punudbip 96 mnunp: Ninnpubiph pwbwyp wjunn-
pniuttipnud hujwuwpbigbne bwunwlny wnwehuhg tpypnpn inbinuhnju-
ytg 3 mnlnp, hul snppnprhg tipprpn 2 nuplinp: Rwtf ninunp Yup ympw-
pwilgjnip winnpniumd bwhupwt inbnuithnfunipymttbipp:
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Ywpnui fjutnpp édwt Buhh bnuwiwlp b dbluwpwfip wy:
Qwylyp, Upwb nt Ywpbup uwtimpnd thu: UWpwt qubig 9 witnp, hul Suylp’ 6:
Upuitip wyn whwnpbipp hwjwuwpuwwbu pudwtbght tiptiph dholi, b kpp wintt
Ytpunwpdw, Ywpbtt hp pudhl wtnptiph hwdwp <wyhht m Upught ulig
1500 npwd: Wn gnidwipp huswtiv whinp b pudwibin Sugl e Wpwb:

by pulip qu bl 15 ylnpp U pucuily 3 husjuap duuf:
Snipupwlisjuphie pudhi | pllyly 5 plopp: =
Vywloulynid E Ywphiip 1500 npwadp spughu b hp pudhle
5 plapph hwddwsp: Miplall 1 plapt wpdh |
1500 : 5.= 300 (npun)
Suylil pip qluud 6 piapplinhg Al Eipyly Yupkihl,
miptals: <wylyp 1 plappp hudup winpp Eyflpgp
300 npowd: _
Upuall pp qlaud 9 yplappliphg 4-u Fyafly Yuplihl,
niptall: Upuodp 4 plapph hwdup ylnpp Eoflipgup.
4 - 300 = 1200 (npuad) ;
Muap.” Upudhie’ 1200 npud, Swpliple’ 300 npaulk:

bu thpwdnnl bl
wejuy b, oy
nnt pliswy b
ipwdni:

bplip hwplwunihhubip npnpightt dhwuht shpwh hynie wunpuunty:
Lpwughg utilp pliptig 5 Yq, dnup’ 7 Yq pwpwpwywq;: Uyn ywpwpunjwgp
pwjwpup tp hinipp wunpuunbne hwdwp: bppnpn hwpluatinthh putih
np wpwpwywq skp pliphy, nyjbg 1200 npud: Wn npudp dna bplm
hwpluatmhbhtbipp hugwtiu whwp b pudwibt dhdjutg dhol:

EZZ] Mwnnlybiph dbg alip 5 Y wyuwbu, np =
Jnpwpwitignip 2pgwinhl wunnljwp 4 Yhwn: |

EXd ®npéfip snpu hwin 3-n b pywipuitiuljut npn? ;: tinh
qnpdnnmipynitbipny uinwtiwg 1-hg dhush 6 pybpp: | 2wl
Ywpnn bu oquuignpdby bl thwlwqdkp: |L 4=(3-3+3):3

E ywpnui Uyqh dEjuwpwunpynitubpp b junwphp wnwownpuiupp:
SGotiup A ulgplwltinny bphynt dwnwqupe:

“Hputip wijuutiup AB b AC:

Uhltinyu ulgpwltun niblignn bpym dwnwquype-
ubipny Yuquyjws wwnhtipp wijuimd bup wmtlymt:
Uulymup Yupnmd bup wyuwbu' wln CAB Ywid
wlymu BAC:

Cunhwlnp uljgptuytnp Ynggmd b wtjul ququp,
puly wnwquiptbtipp” wulywt Ynndtp:

« Stnphn Uiy qéhp 3 wulymu b gpunhp l}[‘l.lll'[l}.z nwnbiph hn]ujl{'uhnm[;
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EZEd <twnlbnyg Uuph ophuwlhu’ qunfip wihuyn wpmwnphyp:

w) B@-5=7385 q)3715=5"H
70 - E =7560 2460=3 - B
32-B=7712 5082 = 42

Lpwigprit winuwwlp:

17

32

33

999

77

6848 | 3910

18480

28050

EXE)<wipdbip wpnwhuymnipyub wpdbpp:
w) 32.(324 - 216) + 5166: (5423 — 5381)
p) 44 . (852 +448) —(22313: 53 —421) - 612
EE) < wiibvwnfip:
w) 20908ni+9nd & 3000 +7nd
39904ni+8nd & 4000 +3nd

P) 3540900 G —-7500 & 3520002004
82 i 600 G —-55010 @ 82400 4§ 30040
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EEF] <w2ilip wpnwhwymmpyuis wpdtipp, bph.
a = 3225, b =225, c=25:

w)a-b+c pa-(b-c) ga-(b+c)

| Opfiauly’ hupfliip 8 (b - <) wpunwnpjup,
- btpha=32,b=225c=25 =

32 + (225 - 25) = 32 200 = 6400

EEE] <tunlubjm] oppuwlpy’ uwprnui wishwwuwpnyeyniup:
W) 224 + 400 > 400 = 400+m@524:* =
p) 400 - 200 < 400 + 200 *+ 400 U 200 pyftiph gnufwipp b £ 524-hg:
q) 40:20<40-10 * 524-p thnpp £ 400 b 200 puliph qnuduiphg:

EEZ] 9pbip wyu huquiuh) ehdp, npp'

w) dhwjnpp 3 £, hwqupuynpp® 0, hul djnu pninp pywiywtibpp’ 5,
P) wwutwynpp 1k hwqupuynpp' 2, hul djnu pnjnp pYwbiwtiilpp’ 4,

1 [pwnp pliughuh quiugywsp 650 q t: Nppui t dbphtwgh 60 | wwpnnnipjudp
thpp 19w pwph pliughh quiigywsp:

w) Qpnuwgpehlyp punwphg nnipu bljwy dwdp 8:25-ht b qymin hwwury tny
opyw dundp 14:40-hu: Nppuill dudwbwymu bw wigun] wjn Lwiwwwphp:

p) pnuwypohljubiph fundpp qyninhg dwndp 10:45-ht &wbwwywphybg pw-
nup: Lpwlp whn hwuw hwenpn opp” dwdp 2: 10-ht: Nppwt dulwbwlnid
qpnuwpghljutip wigul wyn wbwwuphp:

w) Onpwlhg 6 pnwtinud hnunwd | 12 | 9mp: Nppuit 9mp E hnunud wyn snpw-
lhg 40 pnuybinud:

p) Onpulhg 6 pnyjtinud hnumd £ 12 | 9mp: Nppuitt 9nip E hnunud wyn dnpuw-
bhg 3 dwdnud:

w) Gpl Ywptb hp mubkgws gmuwphg swjuubp 80 npwd, wuwyw pw dnn
Qutwp wypwl gnidwp, nppwt muh <wylyp: <wpyhp, ph tpwghg ympu-
pwlsjmpp nppwl gnidwn muh, tiph tpwtp dhwupt mubu 1400 ppud:

p) bpl dwjphyp Untwyhti ww bu 300 npud, www Untwb b wybipub
qnudwp, nppwitt muh inpuypp: wpyhp, ph tpwtghg jnpwpwsmpp nppwl
qnudwp nuh, tiph bpwip dhwupt mubkt 2500 npuad:

Gplopjw Upgnyeh wnwght optt Watiugh n Untiwgh Juunwljws dhunjnpubiph
gnudwpp 48 Ep: bplpnpn opp Wuiwt Juuwnwltg 28 dhunnp, huly Untwl' 24:
Ungnyph wjupwnht wwpqytg, np upwtp Juuwnwlby ba hujwuwn dhugnp-
ubin: Rwufi dhwynp b Juunwlly upwighg jmpwpwbsjnipp wnweht opp:
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Culybpngn htin Juipnui Uutiugh wnwewplwd juuinhpp: ®npatip

htuuqtutuul lmthtu'u pupwgpp b pmdk) bwlb dymu juinhpubipp:

& — Sl 11, 8 U 3] yapnnappudy pnypl: 1y pugpngns- |
il qufp nnyn mﬁpnqgm}mqu 19y Flpupn, pul djni

hﬂn‘ﬂmﬁ nupuply il Plswlu wnwubdiouglly 5 | jup:

11 11 8 ufs( 5 |
.”\\@ {\,  ' {
41 0KO 3.3 |
31 |0 | 340 '3

—— ——— e e ———— — . —— e i e e et e e

nnit hlisulu by
ipudnuk

) Yl 111, 41 it 3; wmwpnnnipjuldp nnytp: 11[ nwpnimpjudp nnyp wdpnn-
onipjwidp (gyws £ opny, huly uymu bipynup nuinwpl tu: Pluyytiu wnwbiduwg-
uty 6 1 gnip Ukl yih dbg:

p) Ywt 11, 4 b 3] wwpnnnipjudp paygbp: 1] nwupnnniegjudp nnyp widpnn-
onipjuilp 1gyws k opny, huly Ujnu bpyniup nuanwpl bz Puguitiv wnwbdtwg-
Oy 10 | onip by nnyth dbg:

EE] Ywaquibip wpnwhwynnigyniu’ oqunwgnpdting thuljugstip b pywpw-

twljwl pnpnp gnpdnpnyggniiubipp, nph wpdbpp |huh 500:

Ef#] Uwnqlip hhannnueyniun:

~ 80 245 g 5% : -40
EB—E —E—m—E—E—

E[E] Stiu, pb wuljwl puy nbuwlubp Yu, b junwplip wewgwnpuipbipp
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r Upwtp ump whlymubbp b: Upwlip prie wulymubbp b

N e

Upwlip mnhn whlumhhhp kb Upwbp !bm.[ulb mhlumhhhp L

Cl-bhp Epynuwljutt ump, mth[, pmp L qml{ulb wiulynmuttp b nputp qunhp
wnwntpny: Balymutbph whuwlubpp wnnghp nwlymu pwtnih dhongny:




w) H:7=1384 p)3700=E:4 q)[FH:5=8500
(:23 =782 3000 =£1:12 2560 = [E: 32

w) bpynt pybiph pwtinpnp 24 t: Pwdwlwpupp 215-0 k: Sinfip pudwtibtigh
L Yuqupip hwjwuwpnipynit:

p) Bpym pYlph wpnwmpyugp 7040 k: Upunwnphsubiphg dtip 22-0 k: Snfip
Ujniu wpwumphgp b uquhp hwjwuwpmpnib:

q) bplm pytiph gmudwpp 453 b: Snudwplyhbiphg dblp 39-0 k: Sanfip djnu
gmuwpbiht b uquhp hwujwuwpnipgniu:

n) bplnt pytiph wwpplipmpeynip 318 k: Lywglght 1000-u t: Swnfip hwikght
I Yuquhp hwjwuwpnipyntu:

3 <wodpip wpunwhuwymnieyuu wpdbpp:
w) 7560 : (1512 : 12 : 14) — 840000 1000
1) 10000 — (2012 + 6420) — (3580 — 2012)
Lwdbdunnhp:

300 Yo 580 q + 800 Yg @ 1w 200 g + 100 Yg
400 Yq 350 g + 700 g ® 1w 150 bg + 100 lq

El{] Sndwé pybiphg puwplip ugl phyp, npp wknunpbing b-h thnfuwpby’
Yuunwliuu hwdwuwpnygyniu:

(2.0 1. 80, 56 30

w) 6:-8=b-24 P) 280:40=b:8 4) b+-20=20-80
1200:20=Db-2 60-30=b- 1800 b-50=0:5
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<wipypp pwuwnp:
« 7 2h2 hymph hwdwp Y&wpky b 560 npuad: Fus wpdt 1 2hg hymgep:

« Spuilpnnpp 2000 U * dwltipbiu mubignn nw

2

Lwtf dwdnud wpuilpnnpp Ywph 10000 U
« 11 phghtii wpdt 320 npud: Nppuitt yupdttw 10 | piughtp:

n Yupnud £ 1 dwdnud:
dwltiptiuny nupunp:

« 20 | phiighti wpdt 6400 npuud: Wninp nppuit wnp b y&wph 10 | phiught

qutint huwdwp:

« Ukjup pwtfi wuquul b puty dubipmbhg, tph 1 Y ubiju wipdt 600 npund,

puy 1 Yg &dtipmyp’ 200 puad:

Nunwufuwulip pubugnp:

« Shppp pwbly k gphshg: Funwlp puity t gpphg: Hwighg ript b undbton-

pullp:

« Wnwnp thnpp t Updbihg: Ywphup dbs E Updbithg: Lpuiighg ny E wdbw-

thnppp:

« a phyp Ulis & b-hg, huly b-u Uk Lk c—hg: Npl k wyn pytiphg wdtibwndtisp:

Yunwiphp gnpdnpmypymuubpp:
r) 82 g — 650 g
62 n 210 g — 280 g

w) 44 i -354d

62 nd 2 ud -8 ud
Lpwigpnit winnwwlyp:

=5
2520 140
\— J 55

bptip hpwp hwgnprnn pylinh qnudwipp 183 E: Npritp b wyn pytipp:
Qnpu hpwp hwgnpnnn putiph gnudwpp 166 E: Npritp U wyn pYbpp:

q) 2dop-6d
12d20n-40np
a: atb | a-b
st i |
‘ 20 ‘

w) Syywpwumd gpph wwhlyp punuipwwwwnng hwuwnngp 10 pnybimd
pumutupwwunmu k240 yughly: Luf uwhl Ypwnutpwuwunh wjn
hwuwnngp 2 dwunud:
p) Wpwnwnpudwund uep 22bph dbg jgunn hwuwnngp 5 pnytinud jgumd k
45 9hp: Pwtf pnutinud wyu Yguh 450 2hop:

w) Auwluputh Yepubnpnguwt hwdwp ydwpbygnyg 17000 npud’ qutightt
2w qug b 3 i ghdbitn: Py wpdb 1w qugp, tiph 1 wn ghidtitnt wpdh

25000 npud:

p) 3 Yq quu qulym hunfwp Jupytinp Y&wpky 2400 npud: Nppuit wipdh

15 quup, bphl 40 huwn quidh qubgywodp 1 Yq L
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TNwpqlip, pk dpgnyenul ny np nbinu £ qpungb)’ ghnbuwgny, np.
w) Upnuinp gholy b Fughht, uwluyt qlipwquugh) £ Ywiptitht: Umpbiup qb-
puquighy £ Uyninht, uwluyt ghoty k <wylhti: Swghlp qhoty kU Cuylpl, U
Unipkitht: “Wwipbiip qhoty b U Swylpty U Unipliuhu:
p) Ubtwb ghotiy E Snhwphty, uwljuyt ghpuqugh k Uwlbtiht: Lmuhubit gh-
obil k U Uwiibiht, U Snhwpht: Untwit ghoby E Watiught, uwluy ghpuquiughy
I Uwtbhu:

Nuwunwuhuwulip hwpgbppu: Pupn undjuwbu Yuqdpp uynuhup hwpghbp
U wnwowpyhip puuwpwupl:

: N'p pybipu B4 wunnlpuwtind,

* Uhwy Yupdhp 2pgwitiwlih,

» Uhwyt Yuwymywn b ult gpgwtimlubipht,

* pninp 2pgwitimljubipht,

* tiptip Jpowtituljubiphg nplt dbh:

8 wpnnp huywtiu uuunfnpl) nippuulyniuwuhunh wnbupm ukuyuljh
wwwbph dnw, npybkugh jnpupwiynp wuwinh dnn thth 3 wpnn:

-

EED] Uwipgflip nigwnpmipyniun:

Nunhp nfunfip, pupdpuwéuyt | ,
hwpnw, Swdlhp b wuw, pk
opyw np dwdhl nppwh E onh
stipdwwumnpdwip:

EXT] 20, 36, 77, 18, 30, 50, 12, 5, 8, 14, 70 pybiphg piwnplip wybuhuh Epbp
Ph; npntig gnudwpp 100 k: Cuwplip pybph wynhuh dh pwup beywl:

EFH] Uuinnushobpp thapuwphufip wjuhup pYwlywlbkpny, np unwnwy
hwywuwpnygyniu:

W) % * % sk %k k — k = %k % % % % p) % % %k %k 4 %k — %k %k % % %

Q5fip nplk ninpin b Upkip Upw wunljwing A, B, C Yhwnbpu uyliybu,
np A Yinp quninfh B L C Ybwnkiph dhols:
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« N°p phup whnp k 18 wuqual thnppugitip’ 32 uwinwbiugm hwdwp:

72




EEE] bpp wwnhyp hp mubigus Yynuplantitipp hwwuwn pubwlny pudwttg 7
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EEE] Ywdwnnnp, Jéwptyny 60000 npud, dhswswiu niuihg qutig 12 thwphp
nbtwnp: vwtnp winuihnubipm huwdwp wwpunt Jupnpnh tw J&wpkg 1200
npwd: Un wtnplipp uwtimpnud udwntg dtily hwnp 70 npudny: Nppuit
tywdnun unwuguy tw, bph jnpupwtsymp hwpbipnd fup 100 nbnp:

79



EEE] 9nhip U wddwl upgny nuuwnplip dhltunyl pluwiipwing qpynn
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